Break Even Point

BEP (break even point) is when the GP (gross profit-that’s dollars) generated by labor, parts, materials and sublet equal all of the overhead for the entire month.

Gross sales minus all of the direct costs of parts, labor (should include all benefits such as uniforms, vacation, taxes, etc…), materials, and sublet equals GP.

Overhead is rent/mortgage, utilities, insurance, office supplies, repairs/maintenance, staff wages/benefits…..everything that is not a direct cost of repairing a vehicle.

Let’s assume that a shop’s monthly overhead is $20,000.

Let’s assume the same shop delivers an average of 5 cars a day at an average of $1,000 per repair. That’s $5,000 in gross sales per day

Let’s say the shop averages 40% (GPM) gross profit margin on each repair.

$5,000 (one day sales) X 40% (avg. GPM) =                    $2000 GP per day

$20,000 (monthly overhead) ( $2,000 (GP per day) =      10 (or 10 days)

The shop should “break even” on the 10th workday of the month.

Key point here is “sales” or “closed tickets” which means the shop has the money.

Now, if the shop “Job Costs” each RO, instead of averaging or guessing, it will know almost to the exact minute when it “breaks even”. 

Monthly overhead (subtract each days GP)




$20,000

1st work day closed 6 RO’s with a total GP of $3,723 which leaves
$16,277 

2nd work day closed 5 RO’s with a total GP of $1,822 which leaves
$14,455

3rd work day closed 9 RO’s with a total GP of $3,586 which leaves
$10,869

And so on, until the overhead equals has been paid.

